Lesson 3 Subtraction PUZZLE CLICK
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Directions: Click on the video button or scan in the QR Code to solve this —
puzzle. Use the clues to solve each addition puzzle. To find the correct
number, cross out the answer to each clue in the square. Your answer will

be the number that is left..

1) It's not 39 - 6 or 37 - 2

3) It's not 52 - 9 or 55 - 8

mm It's not 49 - 10 or 42 - 4 It's not 51 - 10 or 57 + 13
mmm It's not 42 - 8 or 43 - 12 It's ot 56 - 7 or 55 - 7
It's not 52 - 6 or 57 - 15

mmm It'snot 42 - 5or 38 + 6
What is the number ?

What is the number ?

mm 2) Tt's not 44 - 10 or 46 - 14 a5 e 1
It'snot 39 - 8or 42 - 6

It's not 53 - 12 or 57 - 12

EIECET [t
mmm It's not 37 - 4 or 46 - 8 It's not 57 + 10 or 56 - 14

What is the number ? ____ What is the number ?



https://drive.google.com/file/d/0B-TuGxztps3TVmJxY20zZ1RINlk/view

